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QUESTION 1
Which statement is correct about a WLAN RF medium?
A. AWLAN RF is a full duplex, contention free medium where each client transmits on a separate channel.

B. A WLAN RF is a full-duplex, contention-free medium where 802.11 stations can transmit and receive at the same
time.

C. A WLAN RF is a half-duplex, shared medium where 802.11 stations contend with each other for access.
D. A WLAN RF is a half-duplex, contention-free medium where the access point polls each station in turn.
Correct Answer: C

Reference: https://thewlan.com.au/2017/01/13/cwna-chapter-7-wireless-lan-topologies/

QUESTION 2

Which two statements are correct about microservices? (Choose two.)
A. A microservice can be added without system downtime.

B. All microservices can be updated at the same time without downtime.
C. A microservice can be updated without system downtime.

D. Each microservice uses the same virtual hardware.

Correct Answer: AC

QUESTION 3

Which Mist supported API is considered data-driven?
A. RESTful

B. Webhook

C. WebSocket

D. gRPC

Correct Answer: D

QUESTION 4

Which statement is correct about Mist SLES?

JNO-251 PDF Dumps | JNO-251 Exam Questions | JNO-251 Braindumps 2/3


https://www.geekcert.com/jn0-251.html
https://www.geekcert.com/jn0-251.html
https://www.geekcert.com/jn0-251.html

VCE & PDF https://lwww.geekcert.com/jn0-251.html
2024 Latest geekcert JNO-251 PDF and VCE dumps Download

GeekCert.com

A. A Mist classifier is comprised of multiple SLEs.
B. A Mist SLE is comprised of multiple classifiers.
C. A Mist classifier is comprised of a single SLE.
D. A Mist SLE is comprised of a single classifier.
Correct Answer: C

Reference: https://www.mist.com/documentation/service-level-expectations-sle/

QUESTION 5

You have just brought online a new site of AP43s. While verifying that everything looks good, you notice that all of the
access points (APs) are reporting "insufficient power." The APs are connected to an 802. 3at-capable switch. In this
scenario, what would be the cause of the error?

A. The cable run to each AP is too long.

B. The Ethernet cable is plugged into the wrong port on the AP.

C. The APs\\' firmware must be upgraded.

D. LLDP-MED is not configured on the switch.

Correct Answer: D
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